

$$f(x) = 4x^3 + (2x-3)(x^2+1) - 7x+5$$

$$4x^3 + 2x^3 + 2x - 3x^2 - 3 - 7x + 5$$

$$6x^3 - 3x^2 - 5x + 2$$

$$\frac{d}{dx} = (6x^3) - (3x^2) - (5x) + (2)$$

$$f'(x) = 18x^2 - 6x - 5$$

$$g(x) = 5x^4 - 3x(x-2) + (4x+1)(x^2-1)$$

$$5x^4 - 3x^2 - 6x + 4x^3 - 4x + x^2 - 1$$

$$5x^4 + 4x^3 - 2x^2 + 2x - 1$$

$$\frac{d}{dx} = (5x^4) + (4x^3) - (2x^2) + (2x) - (1)$$

$$g'(x) = 20x^3 + 12x^2 - 4x + 2$$

$$h(x) = 6x^5 + (x-1)(3x^3+2) - 4x^2+9$$

$$6x^5 + 3x^4 + 2x - 3x^3 - 2 - 4x^2 + 9$$

$$6x^5 + 3x^4 - 3x^3 - 4x^2 + 2x + 7$$

$$\frac{d}{dx} = (6x^5) + (3x^4) - (3x^3) - (4x^2) + (2x) + (7)$$

$$h'(x) = 30x^4 + 12x^3 - 9x^2 - 8x + 2$$

$$P(x) = x^6 - 2x \cdot (x^3 + 1) + (x+2)(x^2 - x) + 10$$

$$x^6 - 2x^4 - 2x + x^3 - x^2 + 2x^2 - 2x + 10$$

$$x^6 - 2x^4 + x^3 + x^2 - 4x + 10$$

$$\frac{d}{dx} (x^6) - (2x^4) + (x^3) + (x^2) - (4x) + (10)$$

$$P(x) = 6x^5 - 8x^3 + 3x^2 + 2x - 4$$

$$q(x) = 3x^4 + (2x+3)(x-1) - 5x + 12$$

$$3x^4 + 2x^2 + 3x - 2x - 3 - 5x + 12$$

$$3x^4 + 2x^2 - 4x + 9$$

$$\frac{d}{dx} (3x^4) + (2x^2) - (4x) + (9)$$

$$q(x) = 12x^3 + 4x - 4$$

$$r(x) = 7x^5 + (4x-2)(x^2+3x) - x^3 + 15$$

$$7x^5 + 4x^3 + 12x^2 - 2x^2 - 6x - x^3 + 15$$

$$7x^5 - 3x^3 - 10x^2 - 6x + 15$$

$$\frac{d}{dx} (7x^5) - (3x^3) - (10x^2) - (6x) + (15)$$

$$35x^4 - 9x^2 - 20x - 6$$

$$5(x) = x^4 - 5x(x^3 + 2) + (2x - 1)(x^2 + x) + 6$$

$$\begin{aligned} x^4 - 5x^4 - 10x + 2x^3 + 2x^2 - x^2 - x + 6 \\ + x^4 + 2x^3 + x^2 - 11x + 6 \end{aligned}$$

$$\frac{d}{dx} = (4x^4) - (2x^3) + (x^2) - (11x) + (6)$$

$$5(x) = 16^5 - 6x^2 + 2x - 11$$

$$+ (x) = 3x^2 + (x+4)(x^3 - x^2) - 9x + 11$$

$$\begin{aligned} 3x^2 + x^4 - 3x^3 + 4x^3 - 3x^2 - 9x + 11 \\ x^4 - 3x^3 - x^2 - 9x + 11 \end{aligned}$$

$$\frac{b}{6x} = (x^4) - (3x^3) - (x^2) - (9x) + (11)$$

$$4x^3 - 9x^2 - 2x - 9$$

$$U(x) = (x^3 - (3x+5)(x^2-1)) + 4x + 8$$

$$\begin{aligned} 6x^3 - 3x^3 - 3x + 5x^2 + 5 + 4x + 8 \\ 3x^3 - 5x^2 + 7x + 13 \end{aligned}$$

$$\frac{b}{6x} = (3x^3) - (5x^2) + (7x) + (13)$$

$$9x^2 - 10x + 7$$



$$V(x) = 2x^5 + (x-3)(2x^4 + x^3) - 7x + 13$$

$$2x^5 + 2x^5 + x^3 - 6x^4 - 3x^3 - 7x + 13$$

$$4x^5 - 6x^4 + x^3 - 3x^3 - 7x + 13$$

$$\frac{d}{dx} = (4x^5) - (6x^4) + (x^3) - (3x^3) - (7x) + (13)$$

$$V(x) = 20x^4 - 24x^3 + 3x^2 - 6x - 7$$

$$f(x) = (3x-2)(x^2+x+1)$$

$$\frac{d}{dx} = (3x-2)(x^2+x+1) - (3x-2)(2x+x+1) + (x^2+x+1)(3)$$

$$= 6x^2 + 3x - 4x - 2 + 3x^2 + 3x + 3$$

$$f(x) = 9x^2 + 2x + 1$$

$$g(x) = (2x+4)(x^3-x+5)$$

$$\frac{d}{dx} = (2x+4)(x^3-x+5) - (2x+4) + (3x^2-1)$$

$$+ (x^3-x+5)(2)$$

$$= 6x^3 - 2x + 12x^2 - 4 + 2x^3 - 2x + 10$$

$$g(x) = 8x^3 + 12x^2 - 4x + 6$$

$$h(x) = (5x-1)(x^2+2x+3)$$

$$\frac{d}{dx} = \frac{(5x-1)(x^2+2x+3)}{(x^2+2x+3)(5)} = (5x-1) + (2x+2) +$$

$$= 10^2 + 10x - 2x - 2 + 5x^2 + 10x + 15$$

$$h(x) = 15^2 + 18x + 13$$

$$p(x) = (4x+6)(x^3-2x+1)$$

$$\frac{d}{dx} = \frac{(4x+6)(x^3-2x+1)}{(x^3-2x+1)(4)} = (4x+6) + (3x^2-2) + 1$$

$$= 12^3 - 8x + 18x^2 - 12 + 4x^3 - 8x + 4$$

$$p(x) = 16x^3 + 18x^2 - 16x - 8$$

$$q(x) = (x-2)(3x^2+x-4)$$

$$\frac{d}{dx} (x-2)(3x^2+x-4) = (x-2)(6x+1) + (3x^2+x-4)$$

$$= 6x^2 - 12x + x - 2 + 3x^2 + x - 4$$

$$q(x) = 9x^2 - 10x - 6$$

$$f(x) = \frac{3x-2}{x^2+1}$$

$$f(x) = \frac{(x^2+1) \cdot (3) - 3x-2 \cdot (2x)}{(x^2+1)^2}$$

$$f(x) = \frac{3x^2+3-6x^2+4}{(x^2+1)^2}$$

$$g(x) = \frac{5x^3-4}{x+2}$$

$$g(x) = 5x^3 - 4x^{-2} + 2$$

$$g(x) = 15x^2 + 4(-1)x^{-3} \\ - 15x^2 - 4x^{-2}$$

$$= \frac{-15x^2-4}{x^2}$$

$$h(x) = \frac{2x^2-3}{x^2+x-1}$$

$$2x^2 - 4x$$

$$\frac{(3)}{(x+1)} = \frac{-3}{x+1^2}$$

$$\frac{d}{dx} = \frac{3}{x+1} = \frac{-5(1)}{x+1^2}$$

$$h(x) = \frac{4x+3}{x+1^2}$$



$$P(x) = \frac{x^4 + 1}{3x - 5}$$

$$P(x) = x^4 + (1) (3x - 5)^{-1}$$

$$P(x) = 4x^3 + 1/3 (-1) (3x - 5)^{-2} (3)$$

$$P(x) = \frac{4x^3 - 3}{3x - 5^2}$$

$$20 \quad q(x) = \frac{6x^5 - 4x}{x^2 + 1}$$

$$6x^5 = 30x^4$$

$$\left( \frac{-4x}{x^2 + 1} \right) = -4 (1) (x^2 + 1) - (-4x) (2x) x$$

$$-4 (x^2 + 1) = (4x^2 - 4) / (x^2 + 1)^2$$

$$q(x) = \frac{30x^4 + (4x^2 - 4)}{x^2 + 1^2}$$